CTET L1 English L2 Hindi P1

Topic:- CDP_P1_CTET
1) Assertion (A):
Teachers should gain deep understanding of child development.

Reason (R) :
By knowing how children develop and learn, teachers can make education meaningful and fun.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_107_Q1]

1. 1 [Option ID = 1]

2. 2 [Option ID = 2]

3. 3 [Option ID = 3]

4. 4 [Option ID = 4]

2) The underlying assumption of theories which explain development as taking place in different

stages is that development is

(1) continous

)

(2) discontinous

(3) culture dependent
)

(4) genetic dependent
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_107_Q2]
1 [Option ID = 5]
2 [Option ID = 6]
3 [Option ID = 7]
. 4 [Option ID = 8]

A W N -

3) __is a primary agent/agency of socialisation, while __ is a secondary
agent/agency of socialisation.

(1) Law, School
(2)
(3) Library, Neibourhood
(4) Family, School

Social policy, Culture
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_107_Q3]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) According to Jean Piaget, a process through which the existing schemes or structure is
modified to meet the resistance to straightforward grasping refers to

(1
(2
(3
(4

Assimilation
Accommodation

Biological maturity

T o e o

Operation stage
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_107_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5) The concept of symbolism is indicated at the stage of Jean Piaget’s theory of cognitive
development.

(1) Sensory motor

)

(2) Pre-operational

(3) Concrete operational
(4) Formal operational
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_107_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Zone of Proximal Development (ZPD) is discussed in the
(1) Socio-cultural theory of Lev Vygotsky.
(2) Cognitive theory of Jean Piaget.

(3) Psycho-social theory of Eric Erikson.
(4) Psycho-sexual theory of Sigmund Freud.
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_107_Q6]
1 [Option ID = 21]
2 [Option ID = 22]

3 [Option ID = 23]
. 4 [Option ID = 24]

A wN =

7) In accordance with Lev Vygotsky's theory, a teacher should :

(1) demotivate students to work in mix-ability groups.
(2) restrict the use of cultural tools such as books and calculator in process of learning.
(3) provide scaffold to students so that they achieve fill their best potential.

(4) encourage students to compete with each other to get highest marks.
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_107_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) An individual's stage of moral of conforming to the democratically accepted laws and mores of
community welfare is reflected in the Kohlberg's of moral development.

(1) Level | - pre-conventional stage

Level Il - post-conventional stage

)
(2) Level Il - conventional stage
)
4) Both at level Il and I

(3
(
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_107_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) A progressive classroom should be dominantly centered.
(1) learner
(2) textbook
(3) exam
(4) teacher
WF LT HATRA e Firad g1 AR |
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_107_Q9]
1 [Option ID = 33]
2 [Option ID = 34]
. 3 [Option ID = 35]
. 4 [Option ID = 36]

A W N =

10) Kinaesthetic intelligence refers to :

(1) the ability to use language effectively.
(2) the capacity to analyze problems logically.
(3) thinking in pictures rather than in words.

(4) strong physical abilities and coordination.
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_107_Q10]
. 1 [Option ID = 37]

. 2 [Option ID = 38]

1
2
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) In Lev Vygotsky's view, language :

(1) is indicative of emotional development of children.
(2) hinders children’s action and thinking.
(3) helps children in advancing their thinking.

(4) has no impact on cognitive development of children.

(1) ==t F qraaTHF fEwr #7120 g |

(2) F=AT F FATEFaTT T A= H =TT T FHTAT G |

(3) ===1 T A= =T T2AT 39 F 733 FA71 ¢ |

(4) FT T=A1 % HATATCHT (716 TL Filg THE A 2aT1 2 |

[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_107_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Associating pink colour with girls and blue with boys on a regular basis represents

(1) gender diversity
(2
(3

(4) gender equality

gender positivity

gender stereotyping

)
)
)
)
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_107_Q12]
1 [Option ID = 45]
2 [Option ID = 46]
3 [Option ID = 47]
4 [Option ID = 48]

A W N =

13) In order to challenge the prevalent stereotypes among students, it is important :
(1) to present examples which don’t confirm to those stereotypes.
(2) to provide books and films fostering those stereotypes.

(3) to consider viewpoint of only those students who belong to dominant group.

(4) to avoid discussions around diversity and individual differences.
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_107_Q13]
1 [Option ID = 49]
2 [Option ID = 50]

3 [Option ID = 51]
4 [Option ID = 52]

A W N -

14) A teacher asks her students (by the end of the class period) to write the most important points
and the most confusing aspects of that class. So she does to review the responses for
assessing what students have retained and what her next teaching steps should be. Which
type of assessment is being used here by the teacher ?

(1) Formative Assessment

(2) Summatine Assessment
(3) Non-continous Assessment
(4) Rubrics
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_107_Q14]

1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) To promote critical thinking among learners, a teacher should encourage students to :

(1) memorise the facts asit is.
(2) copy the answers written on the board as it is.
(3) reflect on the multiple perspectives shared by their peers.

(4) avoid sharing their ideas with others and work in isolation.
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_107_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]

3. 3 [Option ID = 59]
4. 4 [Option ID = 60]




16) Assertion (A) .

Teachers should provide examples from diverse contexts while discussing about a concept.
Reason (R) :

Students develop a sense of belonging with education if examples and experiences from their
socio-cultural context are included in the discussion.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_107_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) Inclusion in Education can be promoted by :

(1) implementing universal design for learning.
(2) using behaviouristic approach for learning.
(3) designing inaccessible infrastructure.

(4) discouraging collaboration and communication.
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_107_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) Which of the following disability is prominently related to difficulty in "Social Interactions and

communication” ?

(1) Attention Deficit Hyperactivity Disorder
(2) Autism
(3) Dyslexia
(4)

4) Dyscalculia

Teafertea § & F19-H7 FFanrar e &7 7 91 e I S qemr
F FfseTe F Hefad g ?

(1) FFET AT Afatmarsfiaar @AF (ADHD)

(2) =eftar

(3) T

(4) T

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_107_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) You have a learner with visual impairment in your classroom. Which of the following approach

will you adopt as an instructional adaptation ?

(1) Focus on a variety of visual presentations.
(2) Using various types of tactile materials.

)
)

3) Standing far away to the student while giving instructions.
)

e

4) Giving printed materials to read and understand alone.
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_107_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) Without any formal training or support, Ryan started to compose poems and songs at an early
age of 3 and enjoys doing so without any external motivation. This is a typical sign of

(1) Giftedness

(2) Average Intelligence Quotient
)
)

(3) Dyslexia
(4) Autism
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_107_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) While facilitating learning through observation, a teacher should suggest students to start with :

(1) Assessment of their imitated actions.
(2) Paying attention to the actions of model.
(3) Memorising the actions of model.

(4) Imitating and practising actions of the model.
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[Question ID = 21][Question Description = CTET_P1_PART_1_CDP_SET_107_Q21]
2. 2 [option 10 - 82

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Student's ability to reflect on their own learning iscalled .
(1) Attention
(2) Memorisation
(3) Metacognition
(4) Forgetting
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_107_Q22]
1. 1 [Option ID = 85]

2. 2 [Option ID = 86]

3. 3 [Option ID = 87]

4. 4 [Option ID = 88]

23) Assertion (A) .

A teacher should ignore young children’s experiences related to their milieu.
Reason (R) :

Learning at school should be independent from sociocultural context of students.
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_107_Q23]
A

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Which of the following is nof correct in context of learning ?

1) Learning involves interaction with environment.

3) Learning gets influenced by personal factors.

(

(2) Learning is an active process.

(

(4) Learning occurs independent to the social context.
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_107_Q24]

1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25) When a student is stuck on one way of representing a problem, he is in the state of :
(1) advanced thinking
(2) analogical thinking
(3) functional fixedness

(

4)response set
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_107_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) In the process of learning, errors :

(1) do not play any role.
(2) are meaningful and should be discussed.
(3) should be left unattended by the teacher.

(4) should be dealt with negative reinforcement.
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_107_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Which of the following emotion is likely to motivate students to learn 7

(1) Boredom
(2) High fear
(3) Hope
(4) Anger
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_107_Q27]

A W N -

1 [Option ID = 105]
2 [Option ID = 106]
3 [Option ID = 107]
4 [Option ID = 108]

28) Which of the following statement is nof considered a sign of motivated teaching ?

(1) Students ask a lot of questions.
(2) Pin drop silence in the class even when asked to share experiences.
(3) Learners have the sense of belongingness.

(4) Students can differentiate new learning from old learning.
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_107_Q28]

A wnN =

1 [Option ID = 109]
2 [Option ID = 110]
3 [Option ID = 111]

. 4 [Option ID = 112]

29) Which of the following is likely to impede learning ?

(1) Belief in incremental view of ability
(2) Promoting stereotypes about particular identities
(3) Optimizing individual choice and autonomy

(4) Minimising threats and distractions in class.
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_107_Q29]

1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3.

4. 4 [Option ID = 116]

3 [Option ID = 115]



30) Learning is more effective if content to be taught is

(1) not related to social-cultural context of students.

(2) very abstract and complex.
(3) presented in disconnected chunks.

(4) represented in multiple ways.
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_107_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET

1) The least number which when divided by 4, 6, 8,12 and 16, leaves a remainder of 2 in each

case, is

T ¥IAaH TEAT 5T 4, 6, 8,12 dIT16 T AW 39 9% T34 AUHA 2 F=4T g,
=1 2 -
(1)46
(2)48
(3)50
(4) 96
[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]



2) How many twin primes are there between 1 and 100 ?
M7
(2)8
(3)9
(4)6

1 &7 100 & == § e sarsg 9 g ?

(N7
(2)8
(3)9
(4)6

[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q32]

1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) In the number 45360, the digits 5 and € are interchanged. The difference between the new

obtained number and the original number is :

HIT 45360 H, Wl 5 T 6 FT TIEUY TET ZAT TET g | 7 AT HEAT T4
(1) 1990
(2) 990
(3) 890
(4) 1890
[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q33]
! sl

3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) Divide 100 by —2|~ and add 30. From the result, subtract 45. What do you get ?

1)35
2)85
3) 185

(
(
(
(4) 195



100%!42'—irmﬁTWSOGﬁﬁmwﬁwﬁﬁ,ﬁamﬁzlmwmmz
2

(1) 35
(2) 85

(3) 185
(4) 195

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) Ifa seven digit number 346p504 is divisible by 11, then p is equal to :

(1o
(2)2
(3)3
(4)4

T2 U A1 #AT H=AT 346p504, HEAT 11 F Aasa g, A p awET g

(10
(2)2
(3)3
(4)4

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Which of the following is nof written correctly in the Roman numerals 7

(1) XXV
(2) XXXII
(3) VXX
(4) LXIV

Aot & & F19-a7 TEA G § A0 T qg1 a1 T4 g ?
(1) XXV
(2) XXXII
(3) VXX
(4) LXIV



[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q36]
1 [Option ID = 141]
2 [Option ID = 142]
3 [Option ID = 143]
4 [Option ID = 144]

A wWw N =

7) A student has 10 five-rupee coins of similar kind. He puts them one on the other. What shape
will be formed by doing so ?
(1
(2
(3
(4

Circle
Cube

Cone

" o e e

Cylinder

FH AT F T E AT F TR0 F 10 5= 2 | 92 3= 7% F I
U Fd g0 T g | UHT F0e H FT AR q7od g ?

OEL
(2) =7

(3) 4%
(4) T

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q37]
1 [Option ID = 145]
2 [Option ID = 146]
3 [Option ID = 147]
4 [Option ID = 148]

A W N -

8) How many edges does a triangular pyramid have 7

LEREEETREC 1| R T R E R & e B E e b £ LR G e

(1)2

(2)3

(3)6

(4)8
[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q38]
1 [Option ID = 149]
2 [Option ID = 150]

3 [Option ID = 151]
4 [Option ID = 152]

A w N =



9) Supplementary angle of 130° angleis :

130° 3 FI7 FT ETEF FE :
(1) 50°

(2)130-

(3)90°

(4) 180-

[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q39]

1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) A bag of sugar weighs 117 kg 825 g. If the weight of the bag is 4 kg 175 g, then weight of the
sugar is :
(1)122 kg 000 g
(2)113 kg 650 g
(3)103 kg 650 g
(4)113 kg 750 g

AT THF TR TTAT 117 kg 825 g2 | AR sH AT I WMw4 kg 175 g &, AT
=T T AT 2 :

(1) 122 kg 000 g
(2) 113 kg 650 g
(3) 103 kg 650 g
(4) 113 kg 750 g

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q40]

1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) (62 years 12 months) — (19 years 23 months) is equal to :

(1)41 years 11 months
(2)42 years 1 month
(3) 43 years 1 month
(4) 41 years 9 months



(62 =T 12 ATE) — (19 AT 23 1) F@ET 2 :

(1)41 a9 11 518
(2)42 a9 19T
(3)43 79 1 91
(4)41 a9 9 ATZ

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q41]

1. 1 [Option ID = 161]

2. 2 [Option ID = 162]

3. 3 [Option ID = 163]

4. 4 [Option ID = 164]

12) My mother has a rectangular plot of length 16 m and breadth © m. She wants to exchange it

with a square plot of same area. What will be the perimeter of this new plot ?
(1) 12 metres

(2) 24 metres

(3)

(4)

4) 48 metres

36 metres

9 7t F 79 @are 16 m T FEE 9 m T UF AAATHE qES ¢ | Ag THA
TIA F FHI GTHA FT TF AR TEES o771 g1 2 | 39 T4 G@ F7 9Am
T ZAIT 2
(1) 12 ==
(2) 24 #i==x
(3) 36 Hiex
(4) 48 Hi=x

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]
13) In the pattern
2 2 2 2
1T+2+2 =3,
*+3%+6 =7,
2 2 2 2
I +4"+12 =13,
&+ 4+ = o
the missing numbers are respectively :

(1)5°, 16%, 17°
(2)6°, 24°, 25°
(3)6°, 20% 21°
(4)5°, 20%, 21°



=
12+22+22=32,
2?+3°+6° =77
3°+4°+12°=13°,
4 + + = ;
H, oo AT FHA: 2

(1)5°, 16% 17°
(2)6°, 247, 25°
(3)6°, 20, 21°
(4)5°, 20°, 21°

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) The annual expenditure of a company in a certain yvear is given below :

Head Expenditure (in Z crores)
Salary 65
Advertisement 10
Machinery 85
Electricity and water 15
Transport 25
Others 30

If the above information is represented by a bar graph (using a scale 10 crores = 1 cm), what
will be the difference between the length of the bars for machinery and transport ?

(1)8:5ecm
(2)7-5 cm
(3)6-5cm
(4)6 cm



e fEerT wd H, R Fuet AT = e R g

LS =7 (X FLIE H)
T 65
[EEIEG] 10
ot 85

|fErsTAT $fe et 15
hﬁa-g';rr 25

a 30
a2 I I AT UF 3T @ 50T (10 T2 = 1 em & o#7) A=fg
T ST 2, A1 7efAET $ie afags % S=t AT dereAt Hw T AT LA 2

(1)8-5cm

(2) 7-5 cm

(3)6-5 cm

(4)6 cm

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]

3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) What is the mean of first ten natural numbers ?
(1)5:0
(2)5:5
(3)10:0
(4)11-0

TAH A AT HEATSA 7 T F7 3 2

(1)50
(2)55

(3)10-0
(4)11-0

[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_CTET



1) Which among the following is the most appropriate statement related to the nature of

mathematics ?

(1) Mathematics involves calculations only.

(2) Mathematics develops the habit of induction, deduction and generalisation.
)
)

(3) Mathematics helps in development of convergent thinking rather than divergent thinking.
(

4) Mathematics involves concrete ideas and concepts.

1 e 7 1 s B T e B o e e B o 2 TR s M 0 e o =

(1) 79T & FHaer aiwad AieT € |

(2) O ARTA, TRTH TE AT I T AET A w1 g |
() R R e o e 7 R 2 A e 7 o e B e B A 2 K TR Ll
(4) T F A= S smeT, A 2

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q46]

1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) A systematic collection of students’ work samples and worksheets, collected over a period of
time is referred to as

(1) Rubrics

(2) Portfolio

(3) Checklist

(4) Observation Schedule

T A TT A9 FAE F ustd & a0 a=ai & w6 T 47 awefie w7
(1) =

(2) FTERIer

(3) STT=-7=1

(4) ST AT

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q47]

1 [Option ID = 185]

2 [Option ID = 186]

3 [Option ID = 187]
. 4 [Option ID = 188]

A wWw N =



3) According to National Curriculum Framework (2005) the primary objective of school

mathematics is

(1) To teach number system

(2) To teach measurement of quantities

(3) To develop mathematical reasoning for problem-salving
(4)

4) To solve problems using mathematical formulae

AT TI3T= T =94ET (2005) ¥ ATHTE, TFe1 T100a F1 qA 3297 5

(1) =T gz =1 forem

(2) FTETAT F |/ T foreror

(3) TErET-HHTaT & for it A=A w Fw
(4) TOTETr JAT ST AHETAT 0 FA AT

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Differences in mathematics learning and performance in examination is often seen amongst
girls and boys. Often boys perform better in mathematics as per the large data based studies.
Which among the following is the most appropriate explanation of this ocbservation ?

(1) Girls have innate capacity towards literary and other emotive cognition than mathematics

(2) Boys are born with innate capacity for logical and mathematical thinking

(3) Because of societal influences and teachers’ beliefs mathematics is considered to be a
masculine subject

(4) Girls dislike mathematics as it requires abstraction

T AT &I AT IUAT § AEHT AT ASTHAT F AFAT ATT IAT AT 2

72 TH 97 O 0 SiEET F q9TEE F AET 9T AFAT ASH] H0 00T |

IIATeH AT BT | T AT T T STFT FI2 00 fAeeferiad § 7

FAT BT THaT g ?

(1) @t & o it svar qriefcas T g7 Grared® G A S

(P e T B e 7 o B e s e 0 0 o R e o B o

(3) mrHTTST waTE i forgmiAarERmETar 1 g F Freor i F U geEl
=T T q17 ST 2

(4) TETRAT 0T FT THF AL AT TG THH AT T AFLTHAT AT 2

[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q49]

1. 1 [Option ID = 193]

2. 2 [Option ID = 194]
3. 3 [Option ID = 195]



4. 4 [Option ID = 196]

5) National Education Policy, 2020 has recommended that mathematics and computational
thinking will be given increased emphasis in schools, starting from

(1) Foundational stage
(2) Preparatory stage
(3) Middle stage

(4) Secondary stage

Tz farer i, 2020 siqeT Ft g & i ug o e 07 E=mat
H HATE o T2 Sos, H 99 7 |

(1) FfTET =
(2) wrata= =7
(3) fr=mr =%
(4) AreAta =Y

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
. 3 [Option ID = 199]
. 4 [Option ID = 200]

A W N -

6) Which of the following teaching-learning material is most easily available for teacher and
learners to use in classroom to introduce decimals ?

(1) Blackboard and chalk
(2) Ruler with centimeters and millimeters marked
(3) Computer-based learning tools
(4) Fraction chart

FAT | TAFAT % TAT 7 FLATTH UH ATERTHawaral % oo Seatotas 3§ |
Fr-ot foreror-AfanTs At Jae AT 7 Uy gt g ?

(1) smH9z & Fi6

(2) FETHTeT & Heftdies sfFra fam=as
(3) FEET-ATATIA ATATH F ITHIT

(4) Tore =7 =TE

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q51]
1 [Option ID = 201]
2 [Option ID = 202]
. 3 [Option ID = 203]
. 4 [Option ID = 204]

A wnN =



7) Which of the following is nottrue about norm referenced test ?

(1) It is used in diagnostic testing.
(2) Itis helpful in identifying the individual differences of students.
(3) Job interviews are examples of norm reference testing.

(4) It determines extent to which a characteristic exists relative to others.

T HET9T 70 F 91 § FeietEa 7 T #5907 7997 gl ?
(1) THEHT TUANT A=TiAH T H F7 S1em 2 )

(2) =g FE=ntEat it =i faadarat 1 72=W w24 § q9g7® 2 |
(3) AT oI ATEITeRTE, W T35 TLIe(07 o IR g |
(4) 7 TraTia Fwar 2 % g8l & Ao uF Fewar Fe gz 7% qeE g |

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q52]

1
2
3.
4

. 1 [Option ID = 205]
. 2 [Option ID = 206]

3 [Option ID = 207]

. 4 [Option ID = 208]

8) Which of the following mathematical skills are least significant to be developed among primary

grade learmners ?

(1) Identifying and creating patterns

)

(2) Estimation and approximations in solving problems

3) Developing mathematical language and reasoning
)

(
(4) Ability to memorize formal algorithms

gretee T %ty § wivrer swveret & Hew & oo feieitas 5 7
T 7 qTIFH ¢ ?

(1) =T T TgIT U g T

(2) FHEATAT F AHTATT g ATHIH ATAT T FierHe (70 FLAT
(3) IO ATT T T/ A= T AT A

(4) sro=Tie Fem-TAfaE] £ T2 F9 5 GHar

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q53]

A w N =

1 [Option ID = 209]
2 [Option ID = 210]
3 [Option ID = 211]

. 4 [Option ID = 212]

9) According to National Curriculum Framework (2005), primary school mathematics must be :

(1) Memory oriented
(2) Activity oriented

(3) Practice oriented
(4) Evaluation oriented



TS =T ®UET (2005) F AET, Tt o5 v At g
1T |

(1) =i sferge

(2) wiaf=fer st

(3) e ATHHE

(4) ToAT At

[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q54]

1. 1 [Option ID = 213]

2. 2 [Option ID = 214]

3. 3 [Option ID = 215]

4. 4[Option ID = 216]

10) When asked to perform the addition of 23 + 17, a class V child immediately responded 40.
He/She first added 17 + 3 = 20 and added the remaining 20 to get 40. Which of the following

techniques was used by the child ?

(1) Addition by associativity

(2) Addition by guesswork

(3) Addition by decompasition and completing tens

(4) Addition by counting on

HEAT V & F=4 B 7 23 + 17 Sed & o0 Figr q0av g, 91 7g Tid 40 9%
TATET € | g Tgd 17 + 3 = 20 S{EA1/SIEdt g 997 99 g0 20 F¥ seF< 40
AT FAEVFATET g | FEfotaT § F FE-A0 @A 77 STANT a1 5T
(B LEIE

(1) HEATRAT ETT ST

(2) FATT | SATEAT

(3) ATHET TAT TH IO F7H ST
(4) R SireAT

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

11) Pratibha plans and executes many individual and group activities in her mathematics classes.
She also involves her learners in various mathematical games. Which of the following most
appropriately represents the atmosphere of Pratibha’s classroom ?

(1) There is a chaos in her classroom and the learners are confused.
(2) She is unable to focus on developing mathematical concepts.
(3) There is not much discussion in her class that leads to intended resulis.

(4) She ensures learner's participation in the development of mathematical concepts.



TTAAT ST T AT | g 20T U AT o M (831 #l T AT aaTdl g
Y FATAT F7dT g | A AT ATSRTATRATAT FT A A O Frerst 7 dF
Atetoa F91 8 | Mforfas & & F19-ar wia9r it F97 F FEmEer &5 9t
STLH =7 7 AefuT F4r g ?

(1) THEHT FAT H A=T04T £ UF ATATHHAT FHT 7 2 |

(2) T T FTLTEOTHAT F HAFH T7 19 Fiad F:709 5 F9977 2 |

(3) THHT FoAT H Aefee qTOTHT ¥ AT o T ATAT TE==T AT 2 |

(4) =g T sememe ¥ FEE H afterrwara it agatiar gRfae
HLAT & |

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) Dynamic Geometry Software is useful for
A. exploring and learning about the properties of shapes

B. transforming the shapes

C. measuring the length of a given cbject
Choose the correct options :

(1) Only A
(2)A and C
(3)BandC
(4)Aand B

e ST T T (FTF=aT7) aT9Eras 3§

A. SATETIET F IO F ArAT0 FA U AfEH F o
B. rEiaat F Farea<or F fory

C. # % a5 Ff @aTE ATIA & o0

Al e 7 =799 ffw

(1) T A
(2)A T C
(3)B & C
(4) A ST B

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]



13) Which of the following is the most appropriate use of a ‘ganitmala’ in primary classes ?

(1) For recognising different colours of beads in a ganitmala
(2) For finding prime numbers
(3) For writing numbers in words

(4) For learning skip counting

TTATHE FATA F O FT A1 8% ITgF SUIN Metiag § F Fia-a1
g2
(1) oTaRTAT F AT 7977 % HATTA=0 & T =T % (o0
(2) FATST HTAT T TAT 077 & [or
() FHeeaTdr 1 ==t | ferae % forw
(4) FerTa T (T [T | & o
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) A child who can establish the inter-relationships of properties both within figures and among
the figures is at which level of Van Hiele's theory of geometric thinking ?

(1) Visualisation (Level 0)

(2) Informal Deduction (Level 2)
(3) Analysis (Level 1)

(4) Deduction Reasoning (Level 3)

TE F=AT ST ATHAAT F a0 i AT st & =, W1 Qi F sdawa
FT TATTUT T THAT g, A2 A9 ol #l sqTHaid =ae & Fga s Fg meae g

?

(1) 32T (797 0)

(2) FATI=AETRE A (77 2)
(3) ez (77 1)

(4) T 7= (=) (797 3)

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]



15) When asked to divide 348 by 17, most of the children solved the question in the following way
2

17348
34
8
Quotient =2
Reminder = 8
How will you address this type of error made by the child ?

(1) Provide them more such examples for practice.
(2

)
) Explain them the algorithm once again.

(3) Help the child to use informal methods to estimate the answer.
(4)

4) Ask the child to recall the formula that connects dividend, divisor and remainder and then
solve the problem.

F=a1 il 348 AT 17 | AW FI & 010 Fgr AT, T ATAFHIT T==1 o FHeAter g

fater & woF gor o
2
17348
34
8
AR = 2
qT =8

(1) 32 AT F o7 2o T30 % 317 SIS |

(2) 378 FeA-TATE TF =T O 'R |

(3) FATT=TI = AT T ST FT ATHAT @ = {0 &= Fil AT %< |

(4) AT, TSR AT AT H HEg {ET @7 qHeT g9 FA % (9 a7 F7 G
THIOT F7A F T g |

[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_107_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET



1) Consider the following description of a tourist :
"In this area the villagers make their houses having very thick walls that are plastered with
mud. The roofs of the houses are made of thorny bushes. In this area rain is very scarce and
the weather is also very hot.”
This area must be in
(1) Haryana
(2) Chhattisgarh
(3) Gujarat
(4) Rajasthan

et meies & g A R T e 9w fAE fif

“TH GF H A F AW ATT TT HIET SATI0 F qATT g 37 I 9790 &0 Hel 7
AT 8 | 3T FE A A Ferel ANear F a9y W g | Agt W 9 F Fu7 agd
FH Al 2 AT TH1 AT Jga g=dr g 1"

(1) g
(2) F=EE

(3) T
(4) TreTEAT

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_107_Q61]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2) A teacher drew the energy transfer in the following food chain :
Grass —+ Beetle —+ Frog —» Snake - Hawk
If the energy at the 4" trophic level is 7 kJ, then what is the energy at the producer level 7

(1) 70000 kJ
(2) 7000 kJ

(3) 700 kJ
(4) 70 kJ

Tot” i S S



TUF FEATTUHT o STl EATH A0 & (o0 (et d a1 4@an &1 (= a9
HTH - TTHE/ T - HEF - Fq1T - FTH

7f2 =T qIws FT 97 Sl 7 kJ (BT €, 91 SeEs wE uT S
gHit ?

(1) 70000 kJ

(2) 7000 kJ

(3) 700 kJ

(4) 70 kJ

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_107_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) Sustainable Development Goals (SDGs) are crucial to achieve quality health and education,
reduce inequality and enhance economic growth. Goal 5 focuses on which of the following ?

(1) Clean water and sanitation
(2
(3

(4

Gender equality
Good health and well-being

" o e e

Quality education

AT A @5 (SDGs) 99 T AT {907 71 91, 99141 929 7
Ao gt F1 9em F oo aaerarft 2 | A=totas § &, @ew 5, Fraw Ffa

29

(1) ==z T UF TH=gdr 97

(2) T a9

(3) THH FATEST AT FHEATT U7

(4) 3= farear uw
[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_107_Q63]
1 [Option ID = 249]
2 [Option ID = 250]

3 [Option ID = 251]
. 4 [Option ID = 252]

A wWw N =

4) The water cycle depicts the continuous movement of water within the earth and atmosphere
and includes many different processes. Choose the correct option showing various processes

involved.

(1) Evaporation, Transpiration, Condensation, Precipitation
(2) Condensation, Evaparation, Transpiration, Precipitation
(3) Precipitation, Evaporation, Transpiration, Condensation

(4) Transpiration, Condensation, Evaporation, Precipitation



ST T, TZAT & HiaL 4T ATGHEA J, TTAT 200 qAa<q T 0 IATaT g TIqT 2945

Aol Ao T AT Ffer |

(1) FTHT=F0T, FTCTST, TEA, AT
(2) O, ATSITHE0T, AT eeeTe, AT
(3) HATETT, ATCHEHE, ATCUTEAST, FEAT
(4) ATCHTTSTA, FEA, AT, ATCTAS, AT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_107_Q64]

1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

5) A teacher showed the long hollow stem of lotus to students and asked them about the
adaptation. Which of the following is the function of the hollow stem ?

(1
(2
(3
(4

To help the plant float on water

To give the plant support
To fix the plant to the bottom of the pond

T o e aa®

To absorb water

o AT F FIAT FT FHA FT AT GEAT A7 ZEEAT TIT 399 ATTAT F
a1 H qer | et § # F19-A7 Frad a7 % w1 2 2

(1) 9T T 91T 97 994 & FEIEaT FIA7
(2) 98 T TETET 347

(3) 918 FT ATATS & def J FTHIAT

(4) T T AT

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_107_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Tropical Rainforests are found in :

(1) Assam

(2) Rajasthan

(3) Gujarat

(4) Madhya Pradesh



(1) s &
(2) T F
(3) o H

(4) Tem TZor |

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_107_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) In class 1V, chapter ‘Eating together’, Bora is a common variety of

(1) wheat

(2) fruit

(3) vegetable
(4) rice

FAT IV H, O75 "qrs 10 FLA7 |, G097 TF G 557 2

(1 Tg
(2) Fet X
(3) FsfT T
(4) & T
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_107_Q67]
1. 1 [Option ID = 265]
2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]
8) In a Naval ship the number of commands given during the entire parade by the leader is
(1) 36
(2)24
(3)16
(4)8

ATEAT o SETer | aies 5T T 9ve F {0 o amer fA=er it 9ear 2

(1) 36
(2) 24
(3) 16
(4)8

[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_107_Q68]
1. 1 [Option ID = 269]



2. 2 [Option ID = 270]

3. 3 [Option ID = 271]

4. 4 [Option ID = 272]

9) The 10% of energy available to be transferred from one trophic level to another is in the form of

energy.
(1) solar
(2) light
(3) chemical
)

(4) mechanical

T GIO0S F7 H FHL T T & o 10% Fert FE & T
ITAsH 2 |

(1) =17

(2) w=refr

(3) TrHTATF

(4) 7T
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_107_Q69]
. 1 [Option ID = 273]
2 [Option ID = 274]

. 3 [Option ID = 275]
. 4 [Option ID = 276]

N

A wN

10) World Water Day is observed on which of the following day 7

(1) June 5"
(2) March 22™
(3) April 22™
(4) June 220

Froe ster feaw faforfaa 7 o e e g smar g 2

(1)S7
(2) 22 71
(3) 22 &r¥rer

(4)22 57
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_107_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]



11) Hydroponics is a type of horticulture and a subset of hydroculture which involves growing plant
crops usually without

(1) Soill
(2) Water
(3) Nutrients
(4) Sunlight

S HALA UF FHTT T I2;W FY g TAT T Fo=a 7 ITaL=37 g oo awa
et Y e A e A ae

(1) Fgi=T
(2) STt

(3) T T
(4) T F FATT

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_107_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Rainfall is measured by an instrument called :

(1) Hygrometer
(2) Hydrometer
(3) Rain gauge

(4) Barometer

ST IT0T ETT AW 1 /199 (647 a1 2, 39 Fgd 2

(1) Eresieies

(2) ErEgTHIER

(3) %A I

(4) Forefee
[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_107_Q72]
1 [Option ID = 285]
2 [Option ID = 286]

. 3 [Option ID = 287]
4 [Option ID = 288]

A w N =

13) In the chapter ‘Defence Officer : Wahida’, Wahida, a doctor in the Indian Navy, belonhgs to :
(1) Ladakh
(2) Hyderabad
(3) Jammu and Kashmir
(4) Himachal Pradesh



UTS AT ATAFTN - ATRET |, A<ty "rear § =i, arigar, d&6feT g

(1) =T 7

(2)e=TrETE
(3) SF &I FHTH

(4) BT qRaH

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_107_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) A tourist narrates his observation about a country as under :
Water is very precious in this country. There are no rains, no rivers, no lakes, no ponds. Even
below the ground, there is no water. But there is a lot of oil under the sandy soil. So petrol is
easily available here. In fact, the petrol is cheaper than water.
The name of this country is
(1) Afghanistan
(2) Abu Dhabi
(3) Ukraine
(4) Uzbekistan

F1E T Pt Zor 3 Froer & ore St BT 39 W A AT 2

T 290 H IIAT agHeA g | AT A a1 a9l gial g, T gl A=Al i S qrard a1 8
| TET ST & A= A1 T Tel § | T5eg Tal 08 <a il ST & A41= a1 gl 97 g
| AT AT 2T ATATAT 9 (9 ST 8 | a8 | Ugter 91 T 797 2 |
THIAFTAHE

(1) AFATIAEATT
(2) g e

(3) TFm
(4) e fFeaT

[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_107_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Tiger population in India has :

(1) reduced over the last decade

(2) nearly doubled in last 12 years

(3) reduced to the verge of becoming extinct
(4) nearly stabilised but still reducing



7o | FTHT T FTAEET

(FEETzTF Tz Te g

(2) foreer 12 79T § 71T AT g2 8
(3) T 21 & T T TE 5 &

(4) wrTeT =TS Py el ot wE Y

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_107_Q75]
1 [Option ID = 297]
2 [Option ID = 298]
3 [Option ID = 299]
. 4 [Option ID = 300]

A wN =

Topic:- EVS_Q76-90_P1_CTET

1) For discussion on various types of leaves, Harpreet asks students of class Il to bring leaves.
What instructions should Harpreet give to students ?

(1) Pluck leaves from plants

)

(2) Bring leaves fallen from plants
) Bring drawings of the leaves of a plant
)

3
(4) Bring a leaf cut-out made up of paper

draet T § e g it o o 3= wa w5 fow golfa fentian 7
afe T @ FT Fgal ¢ | gedia g Fanhar w5 F=w A Ry s W =ien 2
(1) 91t & gfat 97 FE @

(2) w7 T g2 it @

() | i qi=r"i w1 == 747 F A

(4) FWIS UX qiA FTZ FT A0
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_107_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Sajiya, in her EVS class V, burns a candle and places a glass over it, covering it. The candle
burns out. She asks her students why did the candle go out. Sujata replied, the candle was
suffocated due to the absence of air in a closed space, like we suffocate in a closed room.
What should Sajiya do ?

(1) Tell her that candle is not living and hence cannot suffocate.

(2

3

(
(4) Light an electric bulb and put a glass over it to see what happens.

Ask other students about their response to this possibility.

Ask students what do we need to live, and not suffocate.

)
)
)
)



AT FEAAT T FHAT TFAT H ATAAT TF AHATT STATAL g A7 30 TT [T

& 3AT 2 | FIHaT g FEr 2 | g A9 et F agHt g 5 gwer w41

A WAT | HHAAT AT IAT F 6 HF g H AT wvoAquiteafy § 59 a1

HHET g T, A T FHY F gHET IH L2472 |

HTTSTAT T AT FTAT ALY 2

(1) 35 Fare & G Siad Tal g A A0 IHHT T9 Agl =L THv |

(2) e TE=rTiaai | 28 HamEaT 7% el Aiaiwndr 19 |

(3) FE=nta & g % g shifaa w2+ & foro e s g, o gamer 39
T

(4) T TH=IT Foe ST FT, IHF FUL (AT TaH 99 T T EEr g |

[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_107_Q77]

B

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

3) Teaching of EVS at primary level should focus on

(1) memorizing definitions and concepts of EVS
(2) achieving success on assessment tests of EVS
(3) preparing students for higher studies in science

(4) developing observational and creative skills of learners

ST T 9T TAEA T eI & (90T AT FHiexa grar ATy

(1) T=T=70T ALTAT T TTCATATSH FAT TAAT T TS F9A T

(2) TATEEOT LT & ATHAT TR H AHAAT TTeq Fd 07

(3) T & AT F #A F == {oraA7 & o 9w U

(4) == & daetrdTon s UF qeATed s RO & [AH Fiied IT

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_107_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]



4) Which of the following are the learning principles that explain how children learn ?
A. Children are reluctant to learn and hence teacher needs to motivate them.
B. Children are naturally motivated to learn and capable of learning.
C. Children learn in school hence every children must be sent to school.

D. Children learn by making their own meaning and in a variety of ways.

1) A and D only
2)B and C only
3)B and D only
4) C and D only

(

(

(

(
e o & -7 Hige 6 g, I8 =470 F79 § B A= 59 HiEma g ?

A. F=9 HIEdT 721 FTEA AT AT (Ol T Ieg T FAT AT |

B. == wraria® =7 & #fig ¥ o 3T g 2 ot e | awm g

g |
C. &= & | Hi@d g T T g% q== =l #heT o1 ATigy |
D. &=9 AIAT A4 TT FAEHT A@d & A7 (AT Tl o Had g |

(1) ¥a7 A 3T D

(2) ¥a7 B 9 C

(3)¥a7 B @7 D

(4)FFT C HATD
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_107_Q79]
1 [Option ID = 313]
2 [Option ID = 314]

3 [Option ID = 315]
4 [Option ID = 316]

A W N -

5) Why does a subject like Environmental Studies (EVS) is introduced at the Primary stage
instead of subjects like Science and Social Studies ?
A. Thereis a need to create an awareness of environment among children.
B. Environment plays an important role in children’s growth and learning.
C. Environment Studies is an integrated subject which draws insight from
Science and Social Studies.

D. Environment Studies develops in children a holistic perspective of the
environment where he/she lives in.

1)A,BandC
2)B, CandD
3)A, CandD

(
(
(
(4)A,BandD



Tt =T 9T e va ol aeee S Bt F e 97 warEem
Fega St A =47 g B s g 2
A. F=HT F A0 T Ui TS Aw T AT S 2
B. UHTH0 a==1 #l gig TF @ F Ageaq0l STTHHT TEar g |
FATT | Aq3e I FAr g |
D. AT FLAAT q=A1 F IH TATAL0 T UF FHY w0 A

FLAT Y, FEH A Tgd g |
(A, B#=C
(2)B, C &7 D
(3)A, C&#TD
(4) A, BT D

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_107_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) EVS, at primary level as a subject in integrated means :

(1) Integrating areas of Science, Saocial Science and Environmental Education
(2) Teaching through activities and group tasks
(3) Integrating concepts of Science with language

(4) Linking social concepts with Maths

TR T 0% GATTT0 HEAAT U AT F =y F vHrET §, eI AT 2

(1) s, | s F7 gai=eor f9re & A= 1 v
(2) ForermrerTat T "THEE FAT & "reas o fore
(3) A= F wErI T AT & AT U
(4) FTHTSTE T4l 0 A0 & AT HATSAA F2AT
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_107_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]




7) EVS is based on which three principles of learning EVS ?
A. Learning as environment.
B. Learning about the environment.
C. Learning through environment.

D. Learning for environment.

(1)A, Band C

(2)B, Cand D

(3)A, Cand D

(4)A, BandD

T FEAA T AT T AEAaT Hiae & fAgidl 97 g g ?
A. TATEO F =T H H{EA |

B. TATHYOTF ATE | 1T |

C. AT F HATLAT § HET |

D. ot w & form o |

(1A, BT C

(2)B, C & D

(3)A, C & D

(4) A, B 3T D
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_107_Q82]
. 1 [Option ID = 325]

. 2 [Option ID = 326]

1
2
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Sharad asked students to bring empty packets of things available at home to teach "Things we
make and do”. Some children brought packets of cigarette and gutkha. What should Sharad do

?
A. Discuss how cigarette and gutkha are made.
B. Tell students that smoking cigarette and eating gutkha is a bad habit.
C. Discuss health hazards of consuming cigarette and gutkha.

D. Tell students that they should not bring such things to school.

1) A and B only
2)A and C only
3)A and D only

(
(
(
(4)B and D only



o7 Taentigt & "aeqd &7 g9 991 € 6 4 g UgW & (O, 9% °9% W
SYSY ATIAT 1 FTAT The T FT T2l & | T T4 O0E 07 2F & Toe
T & | 9T7F FT FAT F2A7 A0 ?
A. == Tl F1ien & e & Tear #9 a9a71 2 |
B. fa=mfeat & wgar =fen & Frme fia &l et am@r 94 areq
g
C. ez &7 Tzar a9 & i AT ST T & q10 F TJa0
12T |
D. ==t &1 72 w01 =gy @& =pa § UHt awqu 980 @
I |
(1) F=7 A 4 B
(2)Fa7 A& C
(3)FaT AT D
(4) %97 B &7 D
[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_107_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Using multimedia to teach a concept in EVS assists learning because
A. itis more convenient to teach the concept
B. itactivates the leammers’ senses
C. it utilizes time efficiently

D. it needs a lot of preparation by the teacher

(1)Aand B
(2) B only
(3)Band C
(4) C only



A HITS AT 3 TANT 1T TATET0 9T § Bl Te3T &l 9gTaT 90 ¥ #Jgres

A.
B.
C.
D.

og FE=met 1 giest 51 7T @ g
T THA FT TATALO 297 & FTANT F7aT 2
ToE forere gy Sgd oY AT A AFTFAT 2l 2

(1)AsTB

(2) ¥ B

(3)B#TC

(4) F=eT C
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_107_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) Why the content of EVS is organized in themes instead of topics ?

A. To reduce the curriculum load on students.
B. To develop a connected and interrelated understanding.
C. To reduce the curriculum load on teachers.
D. To develop a holistic perspective of environment in students.
(1) A and B only
(2) B and C only
(3)B and D only
(4) A and C only
AT FEAAT A AGH-AT F1 TER/efTdE F T o7 o |/ =y "ated
TATE ?
A. A== oF qTE=AT #5797 79 w99 5 0w )
B. TE HIFT AT TEIT AAHA AT A [AmOd A F (7 |
C. HLATIHI 97 TIBTFAT &1 AT FH FI7 & [oA17 |
D. fE=nti=i § U= F1 UF T8y FH0 FH T F79 [ |
(1) %= A &7 B
(2) Fae B #T C
(3) %= B &T D
(4) F=eT AT C

[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_107_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]



3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) A teacher asked students to enlist what they are forbidden to do, Nadiya wrote that she cannot
plough in a field because if she does so there will be no rains.
Teacher asks Nadiya whether she has ploughed in the field to check this.
Which science process skills are being addressed by teacher through this discussion ?
A. Experimentation

B. Estimation
C. Logical reasoning
D. Prediction

(1) A and B only
(2) A and C only
(3) A and D only
(4) B and C only

forersr Er=ntd=t & 39 FA1 6T THT T919 FT Figd ¢ 19rg, FH0T T grg qAT =T
WA g | AT TEdt g & 3 gd § g A5 AT Gwar #iiw q97 g1 AT
FIN AT FATILL 724 g |

forerss ATi=T 7 T g 0 97 99 I Si= 6 [0 G § g F1 %7 59T 2 |
Tores ZTeT 29 ST & AT 7 T S ST 9t wr 2ariad A S T
g2

A. T HEAT

B. @rHere HIAT

C. AT HaT

D. STHT @TT

(1) F= A %< B

(2)Fa7 A#T C

(3)FaT AT D

(@) FFTB T C

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_107_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Evaluation according to CCE approach

1) encourages art and craft capabilities in students

(
(2) in a tool for promoting sensitivity amongst learners towards individual differences
(3) refers to standardized tests developed by teachers

(

4)is a process of finding out extent of desired changes in all aspects of learning of students



CCE TZfa & ATH qedi®
(1) ST § T UF %7 T TEIaTst £ TeTed AT g
(2) =tmraATRF foearet F wia forentdaat & dasaefierar 1 2E=T 39 #7
(3) Torer=t gTT TA=ET AT 2=/ | Haiaq g
(4) ==t % 9fam & ot 9et § Tifegg Tadai f JA0AT 70 997 @0 0
wtwar g
[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_107_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Which of the following statements define Environmental Studies 7
Multidisciplinary and Integrated subject

A pre-preparation of subjects in upper primary classes

o o>

An interaction between natural and social-culture environment of child

D. An account of facts about environment

(1) A and B only
(2) B and C only
(3) C and D only
(4) A and C only
fFeafarfaa § § F9-3 597 9300 F2r0T F TRETHT 579§ ?
A. SEACETHT U T Eoe
B. == qrafas et ® are Arer et i g7 a7y
C. =< & Yrpia® X HATHTER-AEpas = & fi= i
E L RET
D. TATHTT & qUCH TS0 HT TFoT
(1) =T A &% B
(2)FaT B & C
(3) %= C & D
(4)FFT AT C
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_107_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]



14) Which of the following statement describes why the subject EVS has been recommended for
class Il to V instead of Environment Education ?

(1) Children can study the environment, they cannot be educated about it.

(2) Environment Education is concerned with acquainting students with ecosystem and
environmental problems.

(3) It has been done to acquaint students with the holistic understanding of the environment
around them.

(4) Environment Education is started in class XI and not in lower level classes.

FeAforfaa § 7 F9-97 F49 TF 719 &7 J9F F791 2 0% F2v || 7 F27 V 5 oo
AT FETAT % T 97 TATEA0 Aeqg AaT £ Ao F Ar e g 2

(1) T=2 TAETO T AT F7 954 3, Irg o0 A7 | {9t 70 #har §r
AT 2 |

(2) Tat=or forar Frenfit £t mirRafEft e oarEofis g9ensd T a3
F9 | AATET 2 |

(3) TAT TH=TTIAT T 39+ 9 T & TATGZ0T i G7T THA T FATT F07 2
[ERIRIp i

(4) wErTET forAT T XI H 9w gt g, e s maAre 7 7wy

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_107_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

15) During a field trip to a farm, students observed various plants. Joy observed that in the
groundnut plant, flowers are found outside the soil and fruit grows under the soil. On this basis,
he classified groundnut fruit as root. Which process skills has he applied for his classification ?
(1) Observation, Comparison, Generalisation
(2) Observation, Hypothesis formation, Classification
(3) Observation, Experimentation, Problem solving

(4) Observation, Collecting information, Identification



T BT | A WO 3 S, Rty 7 @i o 39| ;T 7 29T B g
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[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_107_Q90]

1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

What does the writer mean by the expression : ‘Education is not an end but a means to an

end?

(1) Education should be given to children not merely to educate them but to prepare them for
life.

(2) Children should be educated to help them make good careers.

(3) Children should be educated to become good citizens.

(4) Education enables the children to have good status in society.

[Question ID = 91][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q91]

A wnN =

1 [Option ID = 361]
2 [Option ID = 362]
3 [Option ID = 363]
4 [Option ID = 364]



2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

What should guide us in choosing a system of education?

(1) The public school education system
(2) Charitable schools where education is free
(3) Children should study in schools which help them to prepare for life

(4) Children should study in government schools where syllabus is well-designed

[Question ID = 92][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q92]

1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3.

4. 4 [Option ID = 368]

3 [Option ID = 367]



3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

Why is the writer nofin favour of free education for all?

(1) Many people do not like getting everything free.
(2) Education for all makes no distinction between brilliant and stupid students.

(3) Free education leads to a situation where more people have degrees than the number of
jobs.

(4) Free education does not help in nation-building.

[Question ID = 93][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q93]
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1 [Option ID = 369]
2 [Option ID = 370]
3 [Option ID = 371]
4 [Option ID = 372]



4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

Who tend to dislike work that invelves manual work?

(1) people with degrees
(2) students who have studied in public schools
(3) students whose parents are well-to-do

(4) those who have never worked with their hands

[Question ID = 94][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q94]

1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3.
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

Why does the writer consider the work of a farmer more important than that of a professor?

(1) If the farmer does not work, we will have nothing to eat.
(2) The professor shirks doing any manual work.
(3) A farmer has more practical knowledge than a professor.

(4) A professor is incapable of working in the fields.

[Question ID = 95][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q95]

1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3.
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3 [Option ID = 379]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

What is the noun form of ‘Cleaned'?
(1) Cleansed
(2) Cleanliness

(3) Cleanse
(4) Cleanly

[Question ID = 96][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q96]

1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3.
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

What is meant by 'low work'?

(1) work which is done by the working class
(2) work which involves little physical |abour
(3) work which is not of inferior equality

(4) work which does not require higher education

[Question ID = 97][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q97]

1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3.
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8) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

Why do professors in some countries not engage servants and they have to do the
housework?

(1) Manual workers are very expensive.

(2) Servants do not like to work in professors’ houses.

(3) Professors have lot of free time.

(4) Servants are too dirty.

[Question ID = 98][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q98]
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9) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate options.

Education is not an end, but a means to an end. In other words, we do not educate children
only for the purpose of educating them; our purpose is to fit them for life. As soon as we realise
this fact, we understand that it is very important to choose the system of education which will
really prepare children for life. It is not enough just to choose the first systern of education one
finds, or to continue with one’s old system of education without examining it to see whether it is
in fact suitable or not.

In many modern countries it has for some time been fashionable to think that, by free
education for all — whether rich or poor, clever or stupid — one can solve all the problems of
society and build a perfect nation. But we can already see that free education for all is not
enough; we find in such countries a far larger number of people with university degrees than
there are jobs for them to fill. Because of their degrees, they refuse to do what they think ‘low
work’, and, in fact, work with hands is thought to be dirty and shameful in such countries.

But we have only to think a moment to understand that the work of a completely uneducated
farmer is far more important than that of a professor; we can live without education but we die if
we have no food. If no one cleaned our strests and took the rubbish away from our houses, we
would get terrible diseases in our towns.

In countries where there are no servants because everyone is ashamed to do such work, the
professors have to waste much of their time doing housework.

In fact, when we say that all of us must be educated, we mean that all of us must be educated
in such a way that, first each of us can do whatever job is suited to his brain and ability, and
secondly, that we can realise that all jobs are necessary for society, and that it is very bad to
be ashamed of one's work or to scorn someone else’s. Only such a type of education can be
called valuable to society.

‘There are no servants because everyone is ashamed to do such work.’
The underlined group of words is a/an clause.

(1) Noun

(2) Adverb
(3) Adjective
(4) Principal

[Question ID = 99][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q99]
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1 [Option ID = 393]
2 [Option ID = 394]
3 [Option ID = 395]
4 [Option ID = 396]

Topic:- ENG_Q100-105_L1_P1_CTET



1) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
So | have learned many things, son.
| have learned to wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

The poem is about

1) the sinister aspect of the modern ways of greeting.

(
(2) hypocritical modern social behaviour
(3) one’s wish to learn and unlearn

(

4) father's advice to his young son

[Question ID = 100][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q100]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]



2) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
So | have learned many things, son.
| have learned to wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

Officeface, streetface, hostface, cocktailface, etc. pointto :

1) different kinds of artificial behaviour,

(

(2) different dresses.

(3) typical professional attitudes.
(

4) different activities of a person.

[Question ID = 101][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q101]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]



3) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
So | have learned many things, son.
| have learned to wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

What does the poet wish to be like?

1) a crafty fellow

(

(2) an insincere person

(3) as innocent as he was as a child
(

4) a character in a fairy tale

[Question ID = 102][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q102]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]



4) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
So | have learned many things, son.
| have learned fo wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘'Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

The mood of the poem is

1) sarcastic

3) angry

(2) nostalgic
(

(4) regretful
[Question ID = 103][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q103]
1. 1 [Option ID = 409]

2. 2 [Option ID = 410]

3. 3 [Option ID = 411]

4. 4 [Option ID = 412]



5) Directions : Read the extract given below and answer the questions that follow by selecting the
correct/ most appropriate options.
So | have learned many things, son.
| have learned fo wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

Which figure of speech has been used in ‘wear many faces like dresses’?

(1) Metaphor

(2) Simile

(3) Personification

(4) lrony

[Question ID = 104][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q104]
. 1 [Option ID = 413]

. 2 [Option ID = 414]
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2
3. 3 [Option ID = 415]
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6) Directions : Read the extract given below and answer the questions that follow by selecting the
correct / most appropriate options.
So | have learned many things, son.
| have learned to wear many faces
like dresses — homeface,
officeface, streetface, hostface,
cocktailface, with all their conforming smiles
like a fixed portrait smile.
And | have learned too
to laugh with only my teeth
and shake hands without my heart.
| have also learned to say, ‘Goodbye’,
when | mean ‘Good-riddance’;
to say ‘Glad to meet you',
without being glad; and to say ‘It's been
nice talking to you', after being bored.
But believe me, son.
| want to be what | used to be.

What is the meaning of the word ‘riddance’?

1) forgetting

(

(2) learning
(3) junking
(

4) gathering

[Question ID = 105][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q105]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

Topic:- ENG_Q106-120_L1_P1_CTET

1) Nativists’ idea of instinctive mental ability which enables the child to acquire and produce
language is
(1) Language |learning initiative
(2) Language development tool
(3) Language acquisition device
(4) Language comprehension

[Question ID = 106][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q106]
1 [Option ID = 421]
2 [Option ID = 422]
3 [Option ID = 423]
4 [Option ID = 424]
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2) Infants at the age of 2-3 months produce single vowel like sounds. This stage of language
development is referred to as

(1) Cooing

(2) Holophrastic
(3) Babbling

(4) One word

[Question ID = 107][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q107]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) Language is learnt through drill and practice. This idea of language learning is supported by

(1) B.F. Skinner

(2) Lev Viygotsky
(3) Noam Chomsky
(4) Jean Piaget

[Question ID = 108][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q108]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) In a grade-2 class the students are from different linguistic backgrounds. This multilingual
nature of class

(1)is a burden for a teacher who is teaching in the class.

(2)is a hindrance, as it becomes confusing for language learning.
(3) can be used as a resource for language learning.

(4) becomes confusing for learning a new language.

[Question ID = 109][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q109]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) Which of the following is nofthe strategy for effective listening ?

1) Pre-listening analysis

3) Predicting

(2) Listening to structured talks
(4) Team listening

[Question ID = 110][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q110]
1. 1 [Option ID = 437]

2. 2 [Option ID = 438]

3. 3 [Option ID = 439]

4. 4 [Option ID = 440]



6) Receptive vocabulary are the words which

1) one recognizes when he sees or hears them.

(

(2) one can understand from the text.
(3) one receives from others’ speech.
(

4) one uses in his active vocabulary.

[Question ID = 111][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q111]
1 [Option ID = 441]
2 [Option ID = 442]
3 [Option ID = 443]
4 [Option ID = 444]

AW N =

7) Ravikant, a grade-2 student faces difficulty in forming words and letters while writing. His
writing is not neat and consistent. This is referred to as

(1) Dysgraphia
(2) Dyslexia

(3) Dyscalculia
(4) Dysphrasia

[Question ID = 112][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q112]
1 [Option ID = 445]
2 [Option ID = 446]
3 [Option ID = 447]
4 [Option ID = 448]

A W N -

8) A child will be called proficient in the target language if he/she

(1) knows the appropriate vocabulary but does not use it frequently.
(2)is able to read and write in the home language.

(3) uses the target language fluently and accurately.

(

4)is able to comprehend what is spoken.

[Question ID = 113][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q113]
1 [Option ID = 449]
2 [Option ID = 450]
3 [Option ID = 451]
4 [Option ID = 452]

A W N -

9) Nadira has to just evaluate the reading comprehension of her students in grade-4. Select the
most appropriate task she can give to her students from the following.

(1) Dictation of the text read

(2) Write 4 — 5 advantages of reading

(3) Retell the story in your own words

(4) Make sentences of the words from the text

[Question ID = 114][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q114]
1 [Option ID = 453]
2 [Option ID = 454]
3 [Option ID = 455]
4 [Option ID = 456]

AW N =



10) A teacher asks students to speak six sentences on a given topic. During this activity she asks

rest of the students in class to assess the classmates when they speak. This type of
assessment is referred to as

(1) Self-assessment

(2) Individual assessment
(3) Group assessment
(

4) Peer assessment

[Question ID = 115][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q115]

1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) A multilingual person can also be called a
(1) Bilingual

(2) Monolingual
(3) Polyglot

(4) Linguist

[Question ID = 116][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q116]

1
2
3.
4. 4 [Option ID = 464]

. 1 [Option ID = 461]
. 2 [Option ID = 462]
3 [Option ID = 463]

12) Which of the following statement is frue for reading and writing skill?

(1) Better writing skills have no impact on reading.

(2) Students who read more are better writers.

(3) Students who are good writers are always good spellers.

(4) Reading and writing skills should always be taught separately.

[Question ID = 117][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q117]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

1

3) A teacher asks the students to write a paragraph. While starting the writing process, what is the
first thing a student should do?

(1) Revise the draft

(2) Start writing the paragrah
(3) Brainstorm about the topic
(4) Edit the draft

[Question ID = 118][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q118]

1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3.

4. 4 [Option ID = 472]

3 [Option ID = 471]



14) In the assessment process, peer feedback should

1) be avoided as peers’' feedback is not relevant.

(
(2) not be practised as it is the responsibility of the teachers.
(3) be used on regular basis with writing skills.

(

4) be used only with the writing skill and not with other three skills.

[Question ID = 119][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q119]
1 [Option ID = 473]
2 [Option ID = 474]
3 [Option ID = 475]
4 [Option ID = 476]

AW N =

15) “Kal mujhe Jalandhar city jana tha, par meri train miss ho gayi.” Here the speaker uses three
words in his/her Hindi.
The sentence is an example of

(1) Code mixing
(2) Code switching
(3) Code shifting
(4) Code variation

[Question ID = 120][Question Description = CTET_P1_PART_4_L1_SET_107_ENGLISH_Q120]
1 [Option ID = 477]
2 [Option ID = 478]
3 [Option ID = 479]
4 [Option ID = 480]

A w N =

Topic:- HIN_Q121-128_L2_P1_CTET



") fRder : AEfofaT TET #T UEET (5 T AT F "ag/aas qug gus A
faoT #r FiAT |
W e AT JUA FT T AT Fwerar g av ugelt FweAre T w1 A w2 5
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
3T SAT 30 AHAAT HHT 21 AT 2, FAL e @00 HT TF T gH1 A=40 IT
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
T Fgr it g F 79 w5 g 5w o 5 =7 § =91, 99 = ° g — =g
T AT, FTg =347 |
T 3 FLATE F¥ F Foford 77 BT Y 737 F "S- aHeT 9 g ?

(1) SraFATaT Fir

(2) 9 % =9 A
(3) wrE=-FAmior £
(4) STrET | THear i

[Question ID = 211][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q121]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]




2 fAder ; feforad T #1 9EET G T TAT F TE/AEE S I AT
faoT Fr g7 |
W e AT JUA FT T AT Fwerar g av ugelt FweAre T w1 A w2 5
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
3T SAT 30 AHAAT HHT 21 AT 2, FAL e @00 HT TF T gH1 A=40 IT
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
FHT [0 F1 qi9 % 7919 729 2 o 7 5 =7 § A1g, 37 T 9 F — AT
T AT, FTg =347 |
TR AT w7 AT 7 A e 2a € ¢ A § it Ao F a0 §

(1)3111131131:\?
(2) Tt Ay
(3) ZAT =T
(4) 75 7

[Question ID = 212][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q122]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]




3) fAder ; faforfas T #1 9EET GF T TAT F TE/AEE S I AT
fameT Fr g7 |
WF Fle AT FUT TT F A Maadr g a7 Tgeit HiodTe (50 F qad T4 F
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
IHE ST % AFAAT MET g0 AT g, Fi 0 FTe T TH TAF AL A=F207 97
AT TEAT 2 | T AT UH A9 F AT F TAT F0h AIAT 714 A°F F44 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
FH A A AR F oA Ed E OO T e = § 9, SH A H 2 — A1
TS AU, FMg 3947 |
STTer it FFRear e 9 A1 gt g ?

(1) afrgs ov

(2) TgT AT 7=

(3) STTEH T5 T

(4) T9=T & g1 =99 97
[Question ID = 213][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q123]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]

3. 3 [Option ID = 851]
4. 4 [Option ID = 852]




) fader : fEfeaT T FT 9EFT (5 T7 TAT F ag/aad gugw Ia] A
faseT #1 AT |
W e AT JUA FT T AT Fwerar g av ugelt FweAre T w1 A w2 5
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
3T SAT 30 AHAAT HHT 21 AT 2, FAL e @00 HT TF T gH1 A=40 IT
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
T Fgr it g F 79 w5 g 5w o 5 =7 § =91, 99 = ° g — =g
T AT, FTg =347 |
EH FHTS H i F14 AT FA g ?

(1) 5= g9 a9 6 ATHT A TH 21 3

(2) ST ZHTITHA 99A T2d1 2

(3) ST THTLT | HIH@ 4T gl TATH F TATET 2T 2

(4) T THET AT At 7 g7 &
[Question ID = 214][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q124]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]

3. 3 [Option ID = 855]
4. 4 [Option ID = 856]




5) fAder ; fAeforaT T #T UG GF T TAT F TH/AEE I IAT AT
faseT #1 AT |
W e AT JUA FT T AT Fwerar g av ugelt FweAre T w1 A w2 5
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
3T SAT 30 AHAAT HHT 21 AT 2, FAL e @00 HT TF T gH1 A=40 IT
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
T Fgr it g F 79 w5 g 5w o 5 =7 § =91, 99 = ° g — =g
T AT, FTg =347 |
FATT T T T247 2

(1) ol Faglk %<

(2) ZHT 9 E 97

(3) FHTL THTS U7

(4) ZHTT TT T
[Question ID = 215][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q125]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]

3. 3 [Option ID = 859]
4. 4 [Option ID = 860]



o) fAder : faforaa T #1 9EHT G T TAT F TH/AAE I IAT AT
faseT #1 AT |
W e AT JUA FT T AT Fwerar g av ugelt FweAre T w1 A w2 5
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
IHE ST % AFAAT MET g0 AT g, Fi 0 FTe T TH TAF AL A=F207 97
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
T Fgr it g F 79 w5 g 5w o 5 =7 § =91, 99 = ° g — =g
T AT, FTg =347 |

I 7 T o2 g
(1) AT

(2) FEd-a8d

(3) ST

(4) T-eT

[Question ID = 216][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q126]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]



" R : FEfofaT TErT #1 UEET 9F 7 T4 # ag/aad §g 997 I
Ao Fr g7 |
W AT FUA T F AT NFwaar g av ugeht weAe G g = H
a2 afr g Rufy g mEER @ Rl A el A o
WTH-Tg= & AR ISTIE q@d A g AT 9ie gt =34 § Fg @i § 39
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
3T SAT 30 AHAAT HHT 21 AT 2, FAL e @00 HT TF T gH1 A=40 IT
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
et Py Y S 3 e wm 2 o of v = # SR, O R H @ — =T
I 91U, =g <747 |
" e AT AT AT F F17 Awerar g 1 AT § vaitha 951 2

(1) SAITETT FTH

(2) H9E FT7h

(3) HI=TH FIH

(4) FH FTTH
[Question ID = 217][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q127]
1. 1 [Option ID = 865]
2. 2 [Option ID = 866]

3. 3 [Option ID = 867]
4. 4 [Option ID = 868]



8 fader : FAefefad T=rmer =1 9297 q5 79 T4 & ag/aad gugw Io AT
e it FfAT |
F e AT AYT TT H T WEHaar g a7 Igal HisdAre 57 F7 AT 77 |
STH-Tg=T % @0 GSTIE 98 arq g e A1 3 BT 7 g it F 357w
gA-H dZd-agd (8=l % = F gora g1 °ar g | et % FAra it S7g=ha1 97
SHE SAT Tl ARAAT (MHT gl AT g, FAI1oh S0 T [0 TIF gHIL AT 9
HFLA TZAT 2 | T AN U A9 H AAIS F TALT F0h AIAT 717 AT 594 2,
A HET =T FHe 3T T ATg T OEEC T T4 A0T @Al g | g9 A
T SR g s e e SR T R =T § A1, SH T H g — 978
T AT, FTg =347 |
TILTHAT | LT S

(1) SwIF
(2) ST
(3) ST
(4) STLRRT

[Question ID = 218][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q128]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

Topic:- HIN_Q129-135_L2_P1_CTET

") fRser ; AEfefaa =T #T UEFT qE 7 TAT # Ggi/aad 39g 397 70
faweT #1 A0 |
7 739 Y g dqa=Ar § — Aeaay | g% 97t wwe § 1% 5 99, ad
ST T g7 AHEIT | TR Aled T7 ST FAHA-IE10 ITEAd ZHiT, a8 a9 9897
72T g | Af% 777 aefie SOy T8 S0 AT 9F HgA FL G | 7 A e e A4
UE 2, Fg qgl AHAT | g9 TF Ty A Al FL ATAT | FH AT FIA H "Agd q9A
W YET 2 | S UEAT g, AR AR( 30 q9F 7 TAT J7 Fgd J1L FTH HIH FL G307 |

@G AT A HE G

(1) T2 AT AT

(2) ATEAAT FT FTAAEEAT

(3) &+ For F form g T
(4) AT Z9 AT FeAATE AT



[Question ID = 219][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q129]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]

2 fRder : fMwfafaT Teme #1 57 {9 T0 T497 & agi/a99 39 g7 70
ey @t AT |
Y Z=9 it Yo FAAIAT § — WEaay | IR 9gf H § T T aGE, A0
STAT AT 47T AHIT | T390 2 T2 ST HAH-A1470 ST gifl, 98 99 794
Tgr g | A= F7r ansfie sy v S 97 99 Agd F G0 | 7 A A w0 A9
T2 2, g Tl qhar | AT 9% T 6 qG1 FL AAT | TH AT FIA H Agd THL
T YRl 2 | O T=AT E, TS A2l =1 T9F 7 TAT J7 Sgd J1< F1H HI FE 7707 |

AT FZl TFT TG FAT ARATE ?

(1) BT H
(2) T F
(3) T A

(4) 9T H
[Question ID = 220][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q130]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]

3. 3 [Option ID = 879]
4. 4 [Option ID = 880]

) fRder - MefafaT 7= #1 957 {9 T7 J497 & agi/a99 39w g7 70
ey @t AT |
T ZZT A qT dTTAAT § — Ay | A% qgf THT § T F A,
STAT AT 47T AHIT | T390 2 T2 ST HAH-A1470 ST gifl, 98 99 794
Tgr g | A= F7r ansfie sy v S 97 99 Agd F G0 | 7 A A w0 A9
T2 2, g Tl qhar | AT 9% T 6 qG1 FL AAT | TH AT FIA H Agd THL
T YRl 2 | O T=AT E, TS A2l =1 T9F 7 TAT J7 Sgd J1< F1H HI FE 7707 |

(1) 9% ATL AT AL TE 2 |

(2) THF A FH AT TATIZZ |

(3) THF FY FH ALLTE 2 |

(4) T T T T4 AT g 2 |
[Question ID = 221][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q131]
1. 1 [Option ID = 881]

2. 2 [Option ID = 882]
3. 3 [Option ID = 883]



4. 4 [Option ID = 884]

Y fRder ; fEfofaT T FO9EFT Q6 T7 TAT # A /AaE I g} AT
fase &7 AT |
Y Z3T A A dGLAIAT § — WEaay | IR T T@Ee § T F G0, q9q
S T 8+ AHET | T390 Aled T S HAA-are SufEgd ghit, I8 99 J9=7
Tgr ¢ | Ttz F77 asfie SOy 7 S0 A7 OF "e Y G | F S e w7 ey
U2 2, Fg qgl AHAT | 49 TF Ty, AT qAGl FL GTAT | AH AT FIA H "Agd qHA
T YR 2 | S UEAT g, AR A2l 30 q9F 7 TAT J7 Fgd J1L FTH FIH FHL G307 |

TR 7 FLATE T il EEE I

(1) == o=

(2) Feaar afh
(3) A=t oriw
(4) TV Srcf

[Question ID = 222][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q132]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]

3. 3 [Option ID = 887]
4. 4 [Option ID = 888]

) fAder ; fAEfefad T A1 UEAT [E T TAT T TEHATE JIgH AL AT
fase &7 AT |
7 739 Y g dqa=qr § — 9eaay | A% 92t ww § 1% w7 99, aud
ST T &7 THEAT | T597 Alad T S [=AA-aems 3uiead gR(7, 98 9 a9
Tgr ¢ | Ttz F77 asfie SOy 7 S0 A7 OF "e Y G | F S e w7 ey
U2 2, Fg qgl AHAT | 49 TF Ty, AT qAGl FL GTAT | AH AT FIA H "Agd qHA
T YR 2 | S UEAT g, AR A2l 30 q9F 7 TAT J7 Fgd J1L FTH FIH FHL G307 |

ATH =97 AT f TaF Tl el

(1) 3@
(2) gt
(3) STt
(4) @raeT

[Question ID = 223][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q133]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]



o) fAder : fAaforfad T #1 9EHT G T TAT F TH/AEE I IAT AT
fameT Fr AT |
Y 73T &l g7 Jq7A3TT § — 999 | A= T80 w7 § Fg T GF, A9
STTA T &7 AHEIT | TS A led 07 ST HeE-ar470 ITEd g, 78 99 a9
Tgr ¢ | Ttz F77 ansfie sraur 7 S0 A7 OF "E Y G | T S e w7 e
UL 2, Fg qel AHAT | A TF Ty A qG0 FL ATAT | AF AT FAA H qAgd THA
o T2T 2 | ST TEAT 2, A0 AZ1 =0 7 g TAT A7 Jgd 704 F1H HOH FL 07 |

Hg 7 fqw ors= g
(1) wor

(2) FT
(3) SATITH
(4) SAfg
[Question ID = 224][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q134]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]

3. 3 [Option ID = 895]
4. 4 [Option ID = 896]

") fAder ; fEfoaT TR #T 9T G T TAT F TH/AEE S I AT
fameT Fr g7 |
Y 73T &l g7 Jq7A3TT § — 999 | A= T80 w7 § Fg T GF, A9
ST T G AHAT | TR A1ed T2 S [=AH-a1470 IqE9a i, 7 99 79
Tgr ¢ | Ttz F77 ansfie sraur 7 S0 A7 OF "E Y G | T S e w7 e
UL 2, Fg qel AHAT | A TF Ty A qG0 FL ATAT | AF AT FAA H qAgd THA
o T2T 2 | ST TEAT 2, A0 AZ1 =0 7 g TAT A7 Jgd 704 F1H HOH FL 07 |
T T HOS 7 00 1" FATFT | TFiiha 9755 % ©I77 97 T 91e% &7 99 G
ST HFHAT 2 ?

(1) T

(2) gHT=
(3) TS
(4) =T

[Question ID = 225][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q135]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

Topic:- HIN_Q136-150_L2_P1_CTET



R B o - | o e O = e G e B B R R e e e T
TR § | TH A= #r e g e fEr e 2

(1) AT

(2) oSy

(3) I FTF

(4) =
[Question ID = 226][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q136]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]

3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

2)

UF TAFATAAT TTAFT H FUHTAT ol T ¢ A% qg FTOT %0 A AT ol
T TEATAAT & Torg A Tie 95 T3 | HlSATs 1 ATHT Tl g | FeATTH
T 9755 U § HES AT 2 | AT STT ATATE T 2 (<6 7 F97 Fgd &
?

(1) Fzeefiaeor

(2) HaTAT (2 giiee)

(3) FgTTAT fareror

(4) =TT FAT

[Question ID = 227][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q137]

1. 1 [Option ID = 905]

2. 2 [Option ID = 906]

3. 3 [Option ID = 907]
4. 4 [Option ID = 908]

3) wrgt fovaT e 2020 F ATATE FLIAATAT F207 | =91 i 907 Fie-#1 2 2

(1) St

(2) ==

(3) =T T ATHT

(4) FTATAT ST
[Question ID = 228][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q138]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]

3. 3 [Option ID = 911]
4. 4 [Option ID = 912]



4)

=TT T TSR 981 & a1 AeATTF o HArtddl i 39 I5a s it
T AT T2E I SATAT Tl # (o110 Hgl | T ST Hl FAT Hgl ST ?
(1) =TS

(2) AT

(3) Aot

(4) FTTiefrRTT

[Question ID = 229][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q139]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]

5) s N .
freforfas § & wi-ar fTwrEmar #1 m agi e 2

(1) F97 7 9re% &t Tg=1 F Fi5Te

(2) 9T==T ST =TT 1 J9A § FHE0

(3) AATHT=T 9155 HETT FI9TS § T8

(4) AT F 9T== FT UHTH T TR T H AT

[Question ID = 230][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q140]
1. 1 [Option ID = 917]

2. 2 [Option ID =918]

3. 3 [Option ID = 919]
4. 4 [Option ID = 920]

6) AT AT T SEATIURT TeAAT ATHT T FeAT § FH=nieaay v ==y seefy aga-«
TiAETEET FAT g | Fette § & Fwe- afaEg a9 w9 o
TATTE ST TAATE g 2
(1) ST ETT AT A=T1-3 9 SU & WIS | FgHT AT
(2) Bi=-Fre AHEl § @0T F are § 9\E 49 FIAT
(3) wearTioshT FH=nfat 1 T HAT8 A% FA F O 6 g diw I "qAst A

FEAT § T AT2h § drd o (0 Fgel g
(4) TS Tl & IgTeor H FHT g, A SA fEEnihEi A oorst A

[Question ID = 231][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q141]

1. 1 [Option ID = 921]

2. 2 [Option ID = 922]

3. 3 [Option ID = 923]
4. 4 [Option ID = 924]



7)

U U B S q9r 21 gt Y, weantuar § quw HenfEay wir e 2w §
AT AT gl & T FeATdt B9 | 9 Aq9T AT F | g TS AT
U F A=t i 3 qrar e | B g m9s w9l 2

(1) I =LA TATHT FIAAT FT T2 207 |

(2) & TATFITAT HITH T |

(3) T &= IT5F T |

(4) & 999 ZEIAE F AT FL T |

[Question ID = 232][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q142]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

8) FT H oW Hadt Uw wiAEATT F2amw F oarE, sreariuwr agq Eentar w7
AT FeAT ATl g 4 Sraid A=gl a7g 9 qAT g a7 Tal | Feariohr H7 =7
HTASET &1 4T § TEAT1 FTMg0 2
A. At g7 TT uT v Uma 2 |
B. FE=ImedT g 70 T AT Y ' g
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2. 2 option 0 - 30]

3. 3 [Option ID = 931]
4. 4 [Option ID = 932]
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[Question ID = 234][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q144]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]
4. 4 [Option ID = 936]
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1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]
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1. 1 [Option ID = 941]

2. 2 [Option ID = 942]

3. 3 [Option ID = 943]
4. 4 [Option ID = 944]

12) e forfarsr Fam wi= F EA=thgi w7 {7 aud F ugd § §=9EL 90 g | T2

[EE BRI N £ B R B i s 1

(1) foraa J9T =0 & JE0F 0T |/

(2) FETF TEH

(3) FArTrT==g =t 75 &Y =12

(4) 9TIT ST FT THA

[Question ID = 237][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q147]
2. 2 optin 0 - 946

3. 3 [Option ID = 947]
4. 4 [Option ID = 948]
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[Question ID = 238][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q148]
1. 1 [Option ID = 949]
2. 2 [Option ID = 950]

3. 3 [Option ID = 951]
4. 4 [Option ID = 952]
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[Question ID = 239][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q149]
1. 1 [Option ID = 953]
2. 2 [Option ID = 954]
3. 3 [Option ID = 955]
4. 4 [Option ID = 956]
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[Question ID = 240][Question Description = CTET_P1_PART_5_L2_SET_107_HINDI_Q150]
1. 1 [Option ID = 957]
2. 2 [Option ID = 958]

3. 3 [Option ID = 959]
4. 4 [Option ID = 960]






